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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

(v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions are given with each section
and question, wherever necessary.

(viit) Use of calculators is not permitted.

Section - A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct option in each.

. 1095 .
1. The simplest form of 1168 18
17 25 13 15
@ 56 ®) 5 © 16 @ 16 !

2.  One card i1s drawn at random from a well — shuffled deck of 52 cards.
What is the probability of getting a Jack ?

3 3
@ 35 ®) 25 © 13 @ =5 1
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=1 1 @ i o v g 1 9id eumed % ®9 4 oFad TRl ST gehdT @ ?

124 131 2027 1625
(@) 165 ®) 3o © 625 (d) 462

ATk fgamaagug (k— 1) 22 + kx+ I HITH IR -4 A k HIAF R :

5 5
@ -2 ) 2 © -5 @ 3

afe fogatt A(=3, b) @1 B(1, b + 4) HI ™ aTct {@TEe &1 AeAfeg P(-1, 1) 8, A b

TG :

(@ 1 (b) -1 () 2 (d) 0
T g2 W fomm hifvie

0| 0-5 | 5-10 | 10-15 | 15-20 | 20-25

AR 10 | 15 12 20 9

HTEAh I A2l Fgeieh ot <hl Fret ST ST TRt 2 -
(a) 15 b) 25 © 30 ) 35

I8 o<1 4 9 I, THE 245 91 1029 I AT A WHST 5 I 2 |
(a) 15 (b) 16 ) 9 @ 5

fagati A2, -3) A B(2, 2) F A HI g 2 :
(a) 2318 (b) 35 (c) 47 (d) 531

FEUE 3x% — 7x — 27 QI I BT THGH & :

(@) 27 ®) 9 © -9 @ %
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3. Which of the following rational numbers is expressible as a terminating

decimal ?
124 131 2027 1625
@ T65 ®) T30 © 525 @ 462 1

4. If one zero of the quadratic polynomial, (k — 1) x2 + kx + 1 is —4 then the
value of k is

@ % © 3 @ 3 1

5. If P(-1, 1) is the midpoint of the line segment joining A(-3, b) and
B(1, b + 4), then b 1s equal to

(a) 1 ) -1 © 2 @ 0 1

6. Consider the following distribution :

Class 0-5 | 5-10 | 10-15 | 15-20 | 20-25

Frequency | 10 15 12 20 9

The sum of lower limits of the median class and the modal class is

(a) 15 (b) 25 (c) 30 (d) 35 1

7. What is the largest number that divides 245 and 1029, leaving remainder
51n each ?

(a) 15 ) 16 © 9 @ 5 1

8. The distance between the points A(2, —3) and B(2, 2) is
(a) 2 units (b) 3 units (¢c) 4 units (d) 5 units 1

9. The product of the two zeroes of the polynomial 3x> — 7x — 27 is :

(a) 27 (b) 9 () -9 (d) % 1

.430/3/2.] 5 P.T.O.




10.

11.

12.

13.

14.

15.

16.

17.

18.

afe weh aTer feig P & weh O ohg 9Tt 99 W &1 ¥991 {@Td PA 3R PB 39 YR G T {6
T 80° o IV W Ieh! &, A L POA S 2 :

(a) 50° (b) 60° (c) 70° (d) 80°
I &1 11 9 15 1 T T  wit

k %1 98 W T8 FTT SRt et x + 2y = 3 A1 5x + ky = 7 %1 H1S & 981 3,
q_ .

(tan 27° — cot 63°) HTHAH &

Ife 1 wHEy gl s G eat § 2 ;3 1 U 8, dl I YRATH! w1 A
3

(a, —b) AT (a, b) F A H gl B

(sin 20° — cos 70°) HT UM B

I3 &A1 16-20, = 9 o 3T i

14 9f} Fr e 910t 99 % T Forsuee 1 aiw 68 w2 | 39 s #1 g% 9|
e |

e
Tsh 1 b1 TR 39.6 At & | IHH! &t T1d HIT |

Ife 3y — 1, 3y + 5 AUT 5y + 1 Teh TUIAR ! o Shiteh IS &, dl y T A 1A <hITT |

25
Ife sec 0 =" %,?ﬁcot 0 T HTH AT ST |

AYA

3sin 0+ 2 cos 6
qﬁBtane_Ll%’?ﬁ(?)sinO—Zcosej 1 AT 1 HT |
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10.

11.

12.

13.

14.

15.

16.

17.

18.

If the tangents PA and PB from an external point P to a circle with centre
O are inclined to each other at an angle of 80°, then ZPOA equals :

(a) 50° (b) 60° (c) 70° (d) 80°

In Question numbers 11 to 15, fill in the blanks :

The value of k for which system of equations x + 2y = 3 and 5x + ky = 7
has no solution is

The value of (tan 27° — cot 63°) is

If ratio of the corresponding sides of two similar triangles is 2:3, then ratio
of their perimeters is

Distance between (a, —b) and (a, b) is

The value of (sin 20° — cos 70°) is

Answer the following questions from Question numbers 16 to 20.

The perimeter of a sector of a circle of radius 14 cm 1s 68 cm. Find the
area of the sector.

OR

The circumference of a circle is 39.6 cm. Find its area.

If 3y — 1, 3y + 5 and 5y + 1 are three consecutive terms of an A.P., then
find the value of y.

If sec 6 = % , then find the value of cot 6.

OR

3sin9+2cos9)
3sin0—2cos0

If 3 tan 0 = 4, then find the value of (

.430/3/2.] 7 P.T.O.
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19.

20.

21.

22.

23.

T 9§ 5 e, 4 Fiehh aen 3 50 i 2 | 9 § | g T Tig fehrent T | ik
T hifore foh fepreft T g fia i T8 8 |

3Tfd 1 °, DE || BC, AD = 2.4 &, AE = 3.2 &t 1 CE = 4.8 &t 8 | BD 9@
e |

A

A
Ay

wWE-@

T3 AT 21 © 26 O Y I 2 37 & |

forg HIRT : \/sec20 + cosec?0 = tan 0 + cot 0

HAYA

in O
g hifsTe - e (cosec 0 + cot 0)

1—cos©

p o o UH A1q <hifore foeh fore feama Tfiehtor 42 — 2px + 1 = 0 % I ARl G T8 & |

<1 9T Ueh H1Y 3BT W | SH1 IrEl W 3= — f9=1 i 31 <hl IiiRiesdr 3imd shifag |
DG

21 U8 Teh H1Y 3BTA MY | ST I W 3T e @A 6l I 9 § AT B 6l
TTRIhar T ST |
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from the bag. Find the probability of getting a ball not of blue colour. 1

19. A bag contains 5 red, 4 blue and 3 green balls. A ball is drawn at random

20. In Fig. 1, DE || BC, AD =2.4 ¢cm, AE = 3.2 cm and CE = 4.8 cm. Find BD 1
A

/\s
VRN

Fig. 1

Section - B

Question numbers 21 to 26 carry 2 marks each.

21. Prove that : \/sec20 + cosec20 = tan 0 + cot 0 2
OR
sin O
Prove that : 7— = (cosec 0 + cot 0) 2
1—cos 6

22. TFind the values of p for which the quadratic equation x% — 2px + 1 = 0 has no
real roots. 2

23. Two dice are thrown at the same time. Find the probability of getting
different numbers on the two dice. 2

OR

Two dice are thrown at the same time. Find the probability that the sum

of the two numbers appearing on the top of the dice is more than 9. 2

.430/3/2.] 9 P.T.O.




24. UH I ° 5 WA, 8 Whe qUT 7 Hietl e & | I W F U e ArgewAT Frebredt T |

TRrehaT T shifor fep fepreft 11 Tig

@
(i1)

25. e I g 8 5 Tl 1 g T a0 g A 8 I W il T3 T w791 1@l 6l 79

AT AT THS TTh 7 |
Hhe G 81 ¢ |

4 9} g, T I 1 ™ A1 I |

26. 38 I 1 SR A I, THeh! TG 44 T 2 |

e -1

99 &1 27 9 34 0 TS 9T 3 3h 3 |

27. Jpfa 2 U et en H W@ IEhl (desks) w1 STeET T TE B | IARET, TRA q;T
3ren shAS: fogatt A, B aen C wadl @ | e wei o 3w difre

T shifvTT fop s T TTefehat Ush ST W@ A ST 2 |
() AfE A, Baur Cww@ & @ 7 i fp fog B, Tam@ve AC =1 fpd s §

@)

28. QI 37eh] <] Tsh TLAT o 37ohl 1 AMTHA 10 & | Ife T H § 18 =7 Tz 9w ot 37hi

fofa s g |

10

9

.|

|

6

4

: Q)

2 - - ‘

| s |
% !

0

T YeTe Jd 8 | §&AT [ <hIfT |
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24.

25.

26.

217.

A bag contains 5 red, 8 white and 7 black balls. A ball is drawn at random
from the bag. Find the probability that the drawn ball is

(1) red or white

(11) not a white ball

The length of a tangent from a point A at a distance of 5 cm from the
centre of the circle is 4 cm. Find the diameter of the circle.

Find the area of a circle whose circumference is 44 cm.

Section - C

Question numbers 27 to 34 carry 3 marks each.

In Fig. 2, arrangement of desks in a classroom is shown. Ashima, Bharti
and Asha are seated at A, B and C respectively. Answer the following :

(1) Find whether the girls are sitting in a line.

(1) If A, B and C are collinear, find the ratio in which point B divides the
line segment joining A and C.

10
9 ;
8 -
7F
o 6 S8
z
5
n°:4 B
: A
2 — —
| POl £
o L 1N )8 |
1 234567 8 9 10
Columns
Fig.-2

28. A number consists of two digits whose sum i1s 10. If 18 is subtracted from

the number, its digit are reversed. Find the number.

.430/3/2.] 11 P.T.O.
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29.

30.

31.

32.

33.

34.

afe fear 2 p (2w it T 2, o fag FIRTT 6 (7 — 2\/2) T i gEmn |
AU

AT UEE fafyr & 44, 96 9T 404 *1 7.9, (HCF) F1d hIfST | 37a: $7eh1 1.4
(LCM) d i |

Ifg 1 U1 -2, 959G (x® — 4x2 — Tx + 10) I @, AN ST AHU I T 1T |

3 Tt e o1 U o WY | 99 o ohg @ 7 T 1 g W TR e foig € 99 g we
[T %! AT HINT |

Srran
8 Tf} TS 1 Ush W@TEvS WU aen 38 3 : 4 o 31uTa # fawrforg hifv |

cos 0 sin O

1%@Eﬁf\a-q:(l—tane)-l_(1—cot6):(C()S’e-|_5irle)

AT
forg HISTT : (sin 6 + cosec 0)2 + (cos O + sec 0)2 = 7 + tan20 + cot20.

3T 3 H XP a1 XQ, g O a1t g W foig X & @ii= 718 w9 1@ § aen AB 1 %

fig Rmei @ |
forg fIfT : XA + AR=XB + BR

SRR 3

<1 gl oh! e 8 Tt e 6 &1 B | 39 o %1 s ST shitse fEeht & gl i
o &R o AT o SIS & |
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29.

30.

31.

32.

33.

34.

If \/é is given as an irrational number, then prove that (7 — 2\/5) is an
irrational number.

OR

Find HCF of 44, 96 and 404 by prime factorization method. Hence find
their LCM.

If 1 and —2 are the zeroes of the polynomial (x* — 4x2 — 7x + 10), find its
third zero.

Draw a circle of radius 3 cm. From a point 7 cm away from its centre,
construct a pair of tangents to the circle.

OR

Draw a line segment of 8 cm and divide it in the ratio 3 : 4.

cos 6 N sin 6
(1-tan0) (1 —cot6)

OR

Prove that (sin 0 + cosec 0)2 + (cos 0 + sec 0)2 = 7 + tan20 + cot20.

Prove that = (cos 0 + sin 0)

In Fig. 3, XP and XQ are tangents from X to the circle with centre O. R is a
point on the circle and AB is tangent at R. Prove that :

XA + AR =XB + BR

B

Fig. 3

The radii of two circles are 8 cm and 6 cm. Find the radius of the circle
having its area equal to the sum of the areas of the two circles.

30502, 13 PO




35.

36.

37.

38.

39.

40.

wE -9
9 G 35 T 40 dh Tceh 9 h 4 376 3 |

Torg e o6 wep TweRTor st # ol BT ot 919 <) YoTTaTi o ST % AT o SIS BT 2 |
A
fag il fop foreft amer foig & g1 o it 718 Tt Yl ot wargat ser gt € |

Teh TFTHR el o sclloh fTEeh! ST 21 8.1, 7, o T HeTeh I 3T shi 3 & HIh
Teh 37 MAThR TEET 39 YhR ST T7 3 foh 318 TMiet 61 =318 o o fohal & e 7 |
I S 3 ST 3T T I |

AU

12 9.1, =918 qun 15 9.1, 978 9Tt T 9Tq o 319 Soi i TUeelieht Teh el W
FeErifud 3 frse < g S 12 Raeii # gren m | Tt it e qen Raew i

T SIS A Shifore Tafer fea & o6 v i Samg saeht e A da i 2 |

Teh THTAL ! o TUT 6 UGl 1 AN 42 & | 39 109 Ug a7 30  9g | 37U 1 : 3 I
2 | 3H GG It o1 TUH U 9T 1397 Ue JId i |

AU
100 3T 300 < &= <ht gt forwH Taanati =1 IThe F1a it |

7 M. 39 o o R 8 Tk heao e o @ 1 3= I 60° & R 35 IS i
FHETHA 10T 45° % | T o Freirg i hifww | (Feam B fep /3 = 1.732 R)

=1 512 =1 | Fra ShifsTe
0 100-150| 150-200| 200-250| 250-300| 300-350
TR 4 5 12 2 2

Th S i 3T | 3 IY UEt a mﬁsaﬁaﬁaﬁmﬁ%wﬁwaﬁwé% |
IHh! TAHH 3T T I |
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35.

36.

37.

38.

39.

40.

Section - D

Question Nos. 35 to 40 carry 4 marks each.

In a right triangle, prove that the square of the hypotenuse is equal to sum
of squares of the other two sides.

OR

Prove that the tangents drawn from an external point to a circle are equal
in length.

A hemispherical depression is cut out from one face of a cubical wooden
block of edge 21 cm, such that the diameter of the hemisphere is equal to
edge of the cube. Determine the volume of the remaining block.

OR

A solid metallic cylinder of diameter 12 cm and height 15 cm 1s melted and
recast into 12 toys in the shape of a right circular cone mounted on a
hemisphere of same radius. Find the radius of the hemisphere and total
height of the toy, if the height of the cone is 3 times the radius.

The sum of first 6 terms of an A.P. 1s 42. The ratio of its 10th term to 30th
term 1s 1:3. Find the first and the 13th term of the A.P.

OR
Find the sum of all odd numbers between 100 and 300.

From the top of a 7 m high building, the angle of elevation of the top of a
cable tower is 60°, and the angle of depression of its foot is 45°. Find the

height of the tower. Given that \/?3 =1.732.

Find the mean of the following distribution :
Class: 100-150| 150-200| 200-250| 250-300| 300-350

Frequency : 4 5 12 2 2

The sum of the reciprocals of the ages of a child 3 years ago and 5 years

hence from now is 3 Find his present age.
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